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Parter A

Numer Nazwa Pow. uzytkowa | Pow. mieszkalna
A1 Wiatrotap 4.7 m? 4.7 m?
A2 Hol 6,0 m? 6,0 m?
A3 Salon z kuchnig 20,0 m? 20,0 m?
A4 |WC 1,5 m? 1,5 m?
A5 Garaz 21,2 m? 0,0 m?
A6 Schody 3,1 m? 3,1 m?

Razem 56,5 m? 35,4 m?
Pietro A

Numer Nazwa Pow. uzytkowa | Pow. mieszkalna
A11 Komunikacja 8,0 m? 8,0 m?
A12 |P1 10,4 m? 10,4 m?
A13 |P2 10,4 m? 10,4 m?
A14 |P3 11,0 m? 11,0 m?
A15 |Garderoba 4,7 m? 4,7 m?
A16 |tazienka 5,7 m? 5,7 m?
A17 |Schody 5,0 m? 5,0 m?

Razem 55,2 m? 55,2 m?
Poddasze A
Numer Nazwa Pow. nieuzytkowa
A21 Poddasze 31,0 m?
A22 |Schody 4,7 m?
Razem 35,7 m?

Pow. zabudowy

145,2 m?

Parter B
Numer Nazwa Pow. uzytkowa Pow. mieszkalna
B1 Wiatrotap 4,7 m? 4,7 m?
B2 Hol 6,0 m? 6,0 m?
B3 | Salon z kuchnig 23,7 m? 23,7 m?
B4 |WC 1,5 m? 1,5 m?
B5 Garaz 21,2 m? 0,0 m?
B6 |Schody 3,1 m? 3,1 m?
Razem 60,2 m? 39,0 m?
Pietro B
Numer Nazwa Pow. uzytkowa Pow. mieszkalna
B11 | Komunikacja 8,0 m? 8,0 m?
B12 |P1 12,2 m? 12,2 m?
B13 [P2 12,2 m? 12,2 m?
B14 |P3 11,0 m? 11,0 m?
B15 |Garderoba 4,7 m? 4,7 m?
B16 |tazienka 5,7 m? 5,7 m?
B17 | Schody 5,0 m? 5,0 m?
Razem 58,8 m? 58,8 m?
Poddasze B
Numer Nazwa Pow. nieuzytkowa

B21 Poddasze 31,4 m?

B22 |Schody 4,3 m?

Razem 35,7 m?
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